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(1) 3 11 3R e § (2 Fad 1 ;1;1”{_{ IIIH;@PI%%
" e ) ; - istri tion System for
Which of the following statements is/are correct about Unified District Informati
Education+ (UDISE+) ?
. n Systems initiated by the Department of

L. UDISE+ is one of the largest Management Inform?tio £ Indi
School Education and Literacy, Ministry oﬂ?’ducatlon, Government of India.
II. The entire system is online and has been cbffecting data in eal-time since 2014 — 15.

UDISE+ information is utilized for planning, optimizing resource allocation and implementing

IIIL.
various education related programs and as8€ssing the progress.

Select the correct answer from the following : LN

(1) Only II and III are correct &b) Only I and III are correct

(8) OnlyIis correct (4) OnlyIand II are correct

Qi@ i (S o9, a9 sAFT (Sife), STafemt (Tefiaden) it s dsfom fawem
(PRABANDH) forges 37aiia smmar 8 2 .

(1) Teftr I e s (3 g w v)

(2) I=R e faym, fren w=eE, WRE WER

(3) @y faram

(4) Toa wareE, wRa GR I'B

Project Appraisal, Budgeting, Achievements gid Data Handling System (PRABANDH) is under
(1) Rashtriya Uchchatar Shiks:ha Abhiyan (RI:QA;

(2) Department of Higher Education, Ministry pf Education, Gol

(3) Samagra Shiksha M

(4) Ministry of Finance, Gol H

frfafiaa 3 & F.d T o1u1g 2 2

(1) "R (2) Hfcym (3) afiferam @ g
Which of the following is a non-metal ?

(1) Sulphur (2) Calcium . (8) Magnesium (4)  Aluminium
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L WA % SRYm & smaEm, uﬁmmﬁwl gﬁﬁ,aﬁﬁmﬁaaﬁ‘ﬁ%l

I. ¥Rd & WM % En, mamﬁuaﬁaﬁ"‘ga
frafafas & @ adt s @ w9 i . H:

(1) 197 I3 9t & |

(2) ITod @, RgIiadt @ »

(3 AA IR B IMAAI |

(4) 198 2, frg I7rerd 2 |

Consider the following statements :
I.  As per the Constitution of India, the numb@f~l _
jya Sabha to both, States ang the

Sabha is the same. i Rafy
II. As per the Constitution of India, seats are{allocated in the
Union Territories. L )

4
Select the correct answer from the following : ;; L
-

(1) BothI and II are correct.

r f‘)
of seats aSslg'“ed to eac tates in the Ra.l)'a

(2) TIis wrong, but II is correct.

. (3) Neither I nor II is correct.

(4) Iis correct, but II is wrong.

R #, Eﬂmﬁm_ﬁmmwﬁamﬁ'wmﬁmﬁﬁm% | fFefofes & &

aarﬂm WU R W FEA R 7 o
(1) ‘g’ & fag= f»:%
(2) adicia =fie gomeft {2
(3) =aTfaes @ik =i
(4) =anfaes Gfian +k

In India, the judiciary has the power to strike down laws

a . i
following concepts explains this power ? Passed by the Parliament. Which of the
(1) Doctrine of ‘exception’

(2) Appellate Judicial System

(3) Judicial Activism

+(4) Judicial Review

frferfaa # & fore ARomaTd 2023€mqqrrﬁnlgmgw

(1) [omw ffg 9@ (2 fé'qu T fy o 5
(3) Tgd &1 (4) Ty Lﬁ
+ Who among the followmg was posthumously awardg, dthe i %W
(1) Mulayam Singh Yadav : (2) B adm, aVip
1 hugh 9
(3) Rahul Bajaj (4) Pin Ra""'at an Award for 2023
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8.

)

e wameen w3 i 2015 - 16 TET T
(1) qﬁaﬁéwm%mma‘aaﬁ
@ et d ww oy ¥ et a4

(3) Waﬁﬁzﬁnm%mmmﬁaﬁ
() ot & oy F w A AI KA oy

According to the N ational Family Health Survey, which of the followmg bealth mdlcators has showp
an increase, in the survey results of 2019 21, compared to 2015 — 16, as per the Economic Survey of

India 2022 - 23 ?

(1) Children under 5 years who are underweight
(2) = Children under 5 years who are stunted

(3)  Children under 5 years who are overweiggg

(4) Under-five mortality rate ((-3\3
WWﬁwa@l (HarbourWaves)ﬂﬁﬁ??mﬁmW% ?
THH (&) —i(2) g
&) TS THM (TEEH) ) FshaTd
‘ ‘Harbour waves’ are known as ,in J; apan.ese'lang-uage.
(1) Hurricane - (2) © Tsunami
(3) Typhoon (4) Cyclone

25 W% ¥ 3 I, 2023 % &9 mﬁa@ﬁg@iﬁﬂﬁiﬁﬁtﬂﬁﬁﬁ%@aﬁﬁaﬁqm{ﬁaﬁﬁ
qaifas & | ol 9gF Sy 2

() 7R, Ffew Q@) T T 7 IfFafidl, smgae

(3) o gfERid, afam ey o IFERTA, e

Among the following Universities, which Uniyersity won the highest number of gold medals in the
Khelo India University Games, held between May 25 to June 3,2023 ?

(1) Jain University, Karnataka (2)  Guru Nanak Dev University, Amritsar
(3) Punjabi University, Patiala 4) PanJab University, Chandigarh
gaa@qﬁaﬁqﬁwmﬂﬁm(ccpn 2023 ¥ f=fafas § 4 9.3 G20 N T Yesly wad areel @
2
(1) efeor wifen ' ' (2) &N
(3) WRd (4) HATST

Index (CCPI) 2023 ?
(1) South Korea ‘ @ Russia

(3) India _ (4) Canada
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9T 11/ Part 11 ity :
GED &'ﬂ!ﬂT/ReaqoningAb el feam = 3R Uk
@aﬁgﬁmmwmﬁ aﬁz_lgﬁﬁ/'“;ﬂ%aﬂ”m‘"@ T R | 7 o
3R 4 forft ) s # | i @ feam o ﬁﬁ’b o
w e @Lﬁm‘ﬁ%—/ e ofaor-afeeTH
5 ferrlt fiqor.qd (2) M Zfar- qd
(3) 4 foerft g afyeay 3 then turns towards East anq driveg

A man drives 10 km in South direction f'mm-hlS offic® , How far and in which direction ; 18 he
4 km. From there, he turns towards North and: anes

from his office ? gouth- -West

(1) 5 km South-East (2) uth -East

(3) 4 km South-West 4) N Fa5 Wt B 3k Tt
féu My s #_129% 3 wefwai § S e sf E, 14%“%%%6@%:?%%
&t 7w At # | 8% @ sl & o formell o M
_m :
fereneff

W%W

(1) 72,74,70 (2) 80,78,76 (3) 64,74,80 (4) 64,66, 62
In the given figure, 12% are those girls who are students too, 14% are students who are dancers too

and 16% girls are those who are dancers too. 8% are the girls who are both students and dancers.
What percentage are only girls, only students and only dancers ?

W%W

#15332963

Dancers Girls (|
m
™M
LSS
(1) 172,74,70 (2) 80,78, 76 &'» 64,74 g
0. (4) 64, 66, 62
% &1 & fore srg / SPA—'EEFW\

UGH WORK
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HWA-2023/C5 — T, 7, o, erea sin fiemd w2, feg

13. uf= fisli A, B,C, D ’Wﬁéaﬁtq‘é’t | B 3R R R s foen ‘
D A T

14.

A 2D 3T h T ik fred | v A R D # e
TR | A ) S i fend # AT
TG TE R )OO W R 2 M -
1) J= (o) @@l g @ . . (4) Temr
. _ { E have diffpr n.t hobl_nes — Singing, dancing, painting, writing and
:‘;:;ﬁnglir:lcisn:)\l. iﬁ’tl?e‘ Emi‘:or dor. A’ and (@) like neither singing nor dancing. ‘B’ and ‘E’ do . B

! 1 th £ Writiljfman.d se‘_ving are not the hobbies of ‘A’. ‘D’ and ‘E’ are not
_the hobb:ea_: of painting and se.?ngp, does If0t like singing. What is the hobby of ‘C’ ?
interested in dancing and sewIng. i

(1) Dancing @ Wiiting g (@ Sewing (4)  Painting

@ hUHl W gt w R, R g o frewd fem
Friferfian e 1, fofim awt % 9 # E90 ) o 1311 fiwm
‘é‘|$ﬁﬁmm§q,ﬁmﬁﬁqﬁﬁm/ﬁwmﬁmé/§l
Fo : -
1. M<O=N<E>Y ~
2. $>A>C=D2N

=5y -
I. 0<D
II. A>M

(1) e 19 1A g §

(3) = ar fsd 1 A freed 11 T @ (4) Fad frd 1T B
In the following question, a relationship

ween different elements is shown in the statements,
followed by two conclusions I and II Asguming the statements to be true, decide which of the
conclusion(s) is/are definitely true. { ,

Statements :

1. M<O=N<E>Y
2. S>A2C=D=z=2N
Conclusions : '
I. 0<D

II. A>M

(1) Both concluslionsll and IT are trye
(3)

(2) Haa fsrd 11 7 R

E=2332963

X : 2) Onl lusion II i
Either conclusion I or conclusion [t is t@e o Pl oo

(4) Only conclusion I is true

T &7 o K
ﬁ"“'“’e‘ g:,SPACE FOR ROUGH WORK
L)

=1

f
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s - ) A LRI L SR Y i
0N E G &, 0wk e, e o B D
geiud 8 ? ' A

gt (4) Hrar
(1) §™ 2) TG B
v o i ol 3) i and T is ‘K's mother; then how i5
If ‘0" is ‘M’s daughter; ‘N’ is ‘O’s brother; ‘K’ is ‘N’ﬂl_ff.‘&lzgrr
related to ‘M’ ? s8] e (4)  Mother
(1) Mother-in-law (2)  Sister L0 (3}- Siswr-in-law

13 T o T & o e e 1.&11 ILW@aﬁrﬂHﬁ‘HﬁQ‘m% | ol Fifso

i -1/ H T 1 I 2 B i B e

a %1 /AT 1 R 2 i

I. 2a+2b=4-2(a-b)

II. a+3b=2a-2

(1) ST HU 130 11 S S 1 I 23 3 foru arawd® ¢ | N

(@) B 11 I A T IR 5 o v 2, o B 1 I T IR F forw e
T |

(3) T AR 1 3T A B 11 ST O 1 I 2 > R A

(4) WImﬁmmm&%%%ﬁ%ammumwww%%mm
TR | 4

Given below is a question followed by two gtatements numbered I and II, each containing some
information. Decide which of the statement(s}i¥are sufficient to answer the question.

i

What is the value of a ? ‘;t
Statements :

I. 2a+2b=4-2(a—b) >

II. a+3b=2a-2

(1) Both statements I and II togethef are necessary to answer the question.

(2) Statement II alone is sufficient to answer the question, while statement I alone is not sufficient
to answer the question. -

(3) - Either statement I alone or statement II alone is sufficient t, answer the question.

(4) Statement I alone is sufficient to answer@e question, while statement II alone is not sufficient

to answer the question. (@)}
' - ___--_-—_-—'-'--——
7w e o fore e / SPACE FOR Roygyy oK
m '
— .

H
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13 o e ey e & oy e @ A 1 S, SR O ST e, oy
o6 /2 e s o e 23 39 T 2/R 7
A.Baﬁcﬁw@wwzﬁﬂw%aﬁ%' BE@-’“’JH@W%?
T
L BA¥dI5TBRIR
IL C40ad=2 |
(1) 3 HUT 130K 11 392 T3 H1 I A b fAHeTawas ¢ | |
(2) mrraﬁﬁmww%%ﬁﬂm%,mmﬂaﬁmmmﬁ%ﬁqm
TE R | ' ;
(3) 91T HUT I 3k AT o 11 3 WA HT IR 3 F foag wafea B
(@) T 3 e 1 A s g v &, R O 1 SR 5 IS oy e
we

W
Ef%ﬂb'ﬁ.]

%F’ﬁ

18.

1533296

™M
Given below is a question followed by two stat@nen'ts numbered I and II, each containing some
information. Decide which of the statement(s) is/qr¢ sufficient to answer the question.

The sum of ages of A, B and C is 65 years. What ig%’s age ?

Statements : -,Iﬁ

I. Bis 15 years younger than A, H
II. Cis 40 years old. ;

(1) Both statements I and II together are necessary to answer the question.

(2) Statement II-alone is sufficient to angwer the question, while statement I alone is not sufficier!
to answer the question, ’
; y _
(3) Either statement I alone or stateren 11 alone is sufficient to answer the question.

. . N .
(4) Statement I alone is sufficient ¢, answer the fjuestion, while statement II alone is not sufficient

to answer the question, N
TF &g 8]
%%‘?W |/ SPACE FOR ROUGH WORK
LA
.
34
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18. ﬁ%ﬁqmwﬁqmmﬁmwg mmmﬁ < EQ

FHYT :

RTE

FTATET #1 T - ok

N W@RTEWWW@%‘HWWI

1. e 9§ dfm a=i  wranfar @ aen @ s e |

(1) I3 IIgHE Y St =z |

(2) Had 11 I =fRT |

3) A IR H S =z |

&_mmmaﬁm EB ’

ed by two courses of action, numbered I and II. It is

In the question below is given a statement foilléw
decide which of two given courses of action

assumed that everything in the statement is{tfue. Then

logically follow(s) for pursuing. : i ‘,3

Statement : T‘
Despite the RTE Act, many children are still dlprwed of education.

Courses of action :

1.  Government should ensure the enforcement of RTE Act.

II. Parents of educationally deprived children should be punished.

(1) Both I and II follow for pursuing.
(2) Only II follows for pursuing. “
(3) Neither I nor II follows for pursuing. ()

(4) Only I follows for pursuing. ('\J S N,
T T & g S /csmce FOR ROUGH work

H
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HRA- 20 ) 3R 7 (R) % w9 & auiar 2 )

19, ﬁamﬁqmgmﬁmﬁﬁ“ |
W(A}
BT, 3t et S R |
@(admnaline}@m o
T (R) : [Q\} ‘
13 R e g 1 e Q7 IH T PR -

H:
() (A)FH R, wg R)TEA 8 |
(&) 3R (R) 3 v &, 7 (R) (Aﬂﬁ’fﬂﬁwwﬁ% |
/

@) (AT ], WY (R)FTAR | _
@ @ 3iR R wh § 3 (R), (4) B TR v

Two statements are given below and they are la(%lled as Assertion (A) and Reason (R).
Assertion (A) :

Adrenaline hormones are also called emergency rmones. -

Reason (R) ;

Adrenaline increases metabohsm of carbohydra S to provide instant energy.

Select the correct answer with the help of the code given below : '
(1) (A)is true, but (R)is falsg,

(%) Both (4) and (R) are true, by ),
(8) (A) s false, but (R) is tryy

(4) Both (A) and (R) ape ;. -
e frue ang (R)is the correct explanation of (A).

% -
“"*Wﬂm / s{}]:e FOR ROUGH WORK
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e - R,
ﬁmf%fﬁﬂ'crmﬁ,ﬁﬁlﬁﬂﬁﬁ:aﬁﬂwﬁﬁu-wﬁﬁﬂmﬂm%’ﬁ;ﬁ?&/%?wmnﬁqm
%twﬁaﬁmmg,ﬁmaﬁﬁqﬁﬁqﬁq@/aﬁﬁﬁmﬁ ;
iy | i DS

o BRIt

]. F<I<B>R<E C MM

2. L<O<F>A>T [88)

e -

L. ‘'T<R +H

. L<B - . ; |

(1 Fred 19 11391 g § @) a;aaﬁ,ﬁﬁ"m%
@) A e 1 frewd 11 g 2 (4) WWIW%

rent elements is shown in the statements

In the following question, a relationship between diffe :
to be true, decide which of the

followed by two conclusions I and II. Assumiifg the statements

conclusion(s) is/are definitely true. g

. Statements : N
1. F<I<B2R<E (%)
2. L<O<F=2A=>=T IFE
Conclusions : v

I T<R H:

II. L<B :
(1) Both conclusions I and II are true (2) Only conclusion II is true
(3) Either conclusion I or conclusion Ilistrue  ,(4) Only conclusion I is true

wyﬁ@ﬁm%(ﬁamzr)aﬁwa’ﬁaﬁtﬁaﬁﬁ%,sﬁm%mé5%¢rq%1
Tr § 9 ITm 1 i AT o g &, TR & 8 Bl R | AT % g 7w o g o
et 2 i 1 Fpet gt e e @ o o aEff & o 11 Fl i ot o e T e g
3 | 3 Fated 39 T @ fohad gr @ form famiht 3 R 2 o p

(1) 4 fF gt & 5fEh chmafRm

(3) 5Tt gforgd D 4l e

Sonali drove her son to his school towards SloufHE which is 5 km away from her house. From school,
she turned westward towards the market, which is 8 krl?'l"aw-.%l-y'from' schodl. After the market she
turned to her right and drove 1 km more and then.took a right fum‘.again and covered 11 km to
reach her office. How far and in which directign is her office fl‘ﬁm'iie;- h.auée“?

(1) 4 km South-West = (2)  5km South-West ‘

(3) 5km South-East (4)  4km South-East

B e I
g i 3 T STTE | SPACE FOR ROUGH wong
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22. 39 9@ i vgaw i, “ﬁmaﬁ

i @
#ooow
(3)

' i ip between mothers
: : t represents the relationship _ . Wome
Identify the diagram that bes :
post-graduates,

By
*® B

23. 38 9E W i, a}wﬁamaﬂﬁWﬁaaﬁaﬁtﬂﬂé’i@wﬂﬁ‘lﬁmﬁﬂ
' A47U, B45R, E410, ?, Q271 ZITF -

(1) J38E (2) H35L (3) J35L° -

3296

15

+ A47U, B45R, E410, 2, Qo71, 2177
(1) J38E @

H35L N 3) J35L (4) H38E
10 |
24, wmﬂw‘rw@fﬁﬂ ﬁmﬁa@mﬁﬁwﬁaaﬂaﬁt?ﬂﬁ TGl Y o et g |
5,18,39,68,7,150 - ™M '
D 15 @ s ‘;R 3) 120 @ 101
Select the number that repla aces the questlo

ark (?) and completes the given series.
5,18, 39, 68, 2, 150 9#“ B .

} (1) 115 @) 05 . () 120 '_ . @ 101
| W
|

g / SPACE FOR ROUGH WORK
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o 96 A TR T, P oy g
ﬂv%{:ﬁﬁwqﬁaﬁ,ﬁa%
ﬁtaﬂgaﬂ(‘ps ‘Q’Wﬁmm% |

N ---:»-
1%

(13)
JB U P,Q R, s T U,'ZV--'aﬂINE‘ﬂIﬁmaﬁaﬁ(g‘Eﬁ%
9N TAE W AR | g, N' % gt 31R DY vy qr 2t d |

T QST T | o, 5 0 e o T
(1) S © N : i
Bight Birds By @, B, 8,7 0V and ¥ g Simlrﬂ)i: . r(zw facing North. ‘T" is fl}turth to the left of p,
‘S’ is fourth to the right of ‘N, ‘R’ and ‘U’ are ndtjlsitting at the ends, ‘but are nel‘g}:bours (-)E"Q’ and ‘T
respectively. ‘N’ is next to the left of ‘P’ and ‘PE\Y;} the irlm'!.ediﬁte neighbour of 'Q’. Who is sitting on
the extreme right ? 1A

< S N, M, Q S P 7en S A, B, C it p e e A B A I TR A 4
% 1 9 o 2 T v Q) s w43 3 | o, D SCC P M HH AT R A,
o N3 O3 T 4 2 | B, QS a oi Adh 2 SN P A ST AR T W R | i
B'% o DI F3T R 2

1 Q 2 M 3 P
Four doctors N, M, Q and P and four nurses A, B, C and D are sitting around a circular table facing
each other. No two nurses or two doctors are sitting side by side- ‘P’, who is sitting between ‘D’ and
‘C, is facing ‘M’. ‘A’ is sitting between ‘M’ and“f¥’ and facing ‘C’. ‘B’ is sitting to the right of ‘Q’ and
third to the left of ‘N’. Who is sitting between ‘@nd ‘B’? :

1 Q 2 M %{3) P o 4 N

e A+B& 34 2 5 ‘B, A U 7,
A_B&r a7 R ‘A, B AT 7,

AxBHE FM 23R ABF TR,
a1 & 7 srfireafss #f P, s @ fFE e dEitE R 7
PxQ+R-S
(1 fom (2) W (3) = WS /Ry @ o

4) VvV

4 Vv

4 N

#15

i’

If A+ B means that ‘B is the wife of A’,
A — B means that ‘A is the mother of B’, i
A x B means that ‘A is the son of B’, O
Q3 3 2
then how is ‘P’ related to ‘S’ in the given expresQNBn .
PxQ+R-S ™M

(1) Father (2) Brother (% Cousin &) Son
L SETR I

S v
7 @ o g e / SRACE FOR Rougy WORK
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HWA-2023/C5 ﬁﬁﬁlaﬁtllﬁqwﬁlﬂﬁmﬁq qg%
28, mﬁaaﬁmf&qw%ﬁﬁ :mrﬁﬁqg} ugﬁﬂhmﬁmﬂqﬁ@ﬁﬁﬁ@hﬁw
u@ ?, W 98 wwEQ: @ /ﬁﬂvﬂﬂgl

Wﬁmﬁﬁ?’@‘qﬁﬁﬁm% Q
; (#))
FYT

1 mﬂmmﬁﬁ@ﬂgl t“q
2. wmmﬁﬁﬁgl ﬁm-)
A : _ "%"

L 5.3 s FeE e |,

(1) e 13 112N e € |

@) Fad e nfRwaa !l ‘

@) 0 frewd 1o fremd 11 Fee g | -
4) hae fewd 1 e 2 |

Two statements are given followed by tw&rgonclusions, numbered I and II. Assuming that the
information given in the statements is true, ﬁn if it seems at variance with commonly known facts
decide which of the given conclusions logicallpapllow(s) from the statements.

Statements : . ; .
1. All teachers are good human beings.
2. All teachers are honest people.

#153

Conclusions : _

L. All honest people are teachers,

II. Some good human beings are teachers,

(1) Both conclusions I and J follow

(2) Only conclusion IT follows, -

(3) Either conclusion I or conclugjy, 11 follo @
(4) Only conclusion I follows, -

miw e

BPACE FOR ROUGH WORK
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(16) -
?ﬁ?ﬁ%w“wﬁmaﬁ?ﬁm%Igﬁ'ﬂaﬂqwﬁ—aﬁﬂ,@a;m’

T, SFE, ST S s @ Pty i % ST
(i aﬁﬂammmwﬁmm%aﬁgwmgﬁmaﬁéﬂl
(ii) Wﬁtmﬁ@mqﬁ@mmal

(iii) _maﬁmmmmaﬁﬁmﬂmg’%mq@qi
ﬂﬁmﬁﬁmwaaﬁﬁwﬁ@amﬁaaqﬁaﬁaﬁ?ﬂmm?
(1) 3 3R TE=l |
@) 8= AN AEEEN
@) T« AR M

(4) el A AW

A combination of three fruits needs to be chos&¥) The fruits must be chosen from seven fruits —
Banana, Apple, Custard Apple, Gooseberry, {ﬁneapple, Plum and Mango on the following
conditions : L

2963

(i) If Apple or Mango is chosen, the other one must also be chosen.
(i) Custard Apple and Pineapple cannot be chosen together. .
(iii) Either Custard Apple or Mango or both must be chosen.

If Pineapple is chosen, which of the following other two fruits must also be chosen ?

(1) Mango and Gooseberry

M

(2) Apple and Plum Vo)
(o))

(3) Apple and Mango ?:]’
(4) Banana and Mango m

- —

g T o fere e / SPQE:E FOR ROUGH WORK
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ST (A) :
I a5 it ereg v e 0§
TE®
reree. for 1 e R | s

2 i Tu e i wEEar @ TR IR H T HI :

(D (&) T R, T (R) T B |

@ @ 3 ® A E, W(R},(A)Eﬁaﬂm TR
3) (A)nm% 9] (R) H& 2 |

(4) (A3 (R) AT wdt & 3R (R), (A)fl‘e@ﬂ@%l

963

1533

Two statements are given below and they are %Jelled as Assertion (A) and Reason (R).

™M

Graphite is used in designing of c:arbou paper.;-

Reason (R) : ‘

Graphite is a good conductor of electricity.

Select the correct answer with the help of the code given below :

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is false, but (R) is true. 58

(4) Both (A) and (R) are true and (R) is corregexplanation of (A).
oM

% &4 & forg g / {ﬂ\cs FOR ROUGH WORK
i
H:

¥ (i _ !
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WU I/ Part T

' ICT
918 T2, T T/ Knowledge O i 37
ﬁﬂﬁ:{ﬁﬂﬂ H Y ®H-H1 Uy Sk hﬁlél au T3V (web browsel‘)'ﬂ 4

%) 32‘@3 W‘?‘ﬁf{ (nternet Bxplorer),

1

(2) th'%?ﬂ RABIEAEES (Mozilla Firefox)

(3). m TRy (Mircrosoft Accoss) '

‘6 IEIEI aﬁ‘q ((;00{_‘:1[‘ L"h!'ﬂl“l‘)v’

Which of the following is not an example of a popular web prowser !
(1) Internet Explorer

(2) Mozilla Firefox

(3) Microsoft Access

(4) Google Chrome

FfrH™ W T {98 (MS Windows) ﬁt%[é};mqqk}-ﬁ Wﬁﬁ‘,ﬂ,m;ﬁ:ﬁﬁﬁéﬁm
mwﬂe’w%%@ﬁqﬁﬁaﬁﬁmwﬁmm@ﬂ‘@ﬁ@ HAIS B9 2 7

il e
gy Ctr1+C3ﬂ'{Ctrl+V (g)’ A]t+G3ﬂTA1t+V
(3) Ctrl+ V3R Ctrl + C (@) Al +V3IAL +C

The most popular combination of ‘shortcut keys’ :H) ‘copy’ some selected text and ‘paste’ the same at
some other location in most of the MS Windows applications is :

(1) Ctrl+Cand Ctrl +V (2) Alt+Cand Alt+V
(8) Ctrl+VandCtrl+C ' (4) Alt+VandAlt+C

aﬁﬂsm%:momgmﬁiﬁﬁ@qﬁmaﬂﬁmfwmmﬁﬁﬂﬁﬂ % fou o
sﬁ@ﬁm%ﬁm mﬁgﬁygﬁaﬁm@ﬁﬁaaﬂtmﬁﬁﬁﬁwﬁ o, e
mwﬁﬁwwwmuwﬁm Tt "

QE-':W YifHaIT (Adobe Premiere)

(2) ‘!.3\'[3 Qﬁ-ﬁa?! (Adobe Acrobat)
(3) TUH UH Yratdige (MS PowerPoint)
J4- T TH TEEd (MS Excel)

Which of the following software is'generally preféx!red most to create a tabular sheet to store marks
scored by 100 students of a boarding house in the last few examinations for some basic statistical

and graphical analysis ?

(1) Adobe Premiere .

A gt g BULH 3
g | i

153329

" (2) Adobe Acrobat

(3) MS PowerPoint

(4) MS Excel M
Fort virn et 1 O TSS E GRCA I [IE@%H RAEE: T

S .pdf - (2) .doc rv'} wav. @) pg
Whlch of the following is oné L ﬁle gj)ensmns of an j xmage file ?

R -~ TP i o w
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5. Freafefon . o R T

36.

37.

38

(2) UHTHGS (MS Word)

(1) U9 U wgHd (MS Access) .
(3) uN ug fyers (MS Windows) . - (4) TUH TH TS (MS Excel)

- x mple of an Operating System ?

. a
Which of the following is a popular &*

(1) MS Access
(3) MS Windows

(2) MS Word
(4) MS Excel

FORT 1 v #, ROMF AN E £
(1) Random Optional Memory,

(2) Read Oriented Memory -

(3) Random Object Memory

\(’4) Read Only Memory

#15332963

In computer terminﬁiég'y,: ROMStﬂﬂdeUT :
(1) Random Optionai Memory ‘

(2) Read Oriented Memory A

(3) Random Object Memory

(4) Read Only Memory

3) [SIEED I (Spyware)

This is a type of Imalware th
useful app, but usually take

413,(_‘,4) o (Spam)

at we down]
oad TP 1),
S contro] of onto our smartphones, disguised as a legitimate av

other harmful action on g our smartphones to d i infli
d . 0 damage, steal o t som
(1) Adware . ata_ security, F i apmeral Inilekd
(3) Spyware . N _ (2) ' Trojan
i 4 S
. ) 22} Pam

Frafafed 38 M e o

(L) R (Plotter) %mmﬁ TR 2
~ (3) FFT (Scanner) L M0 EE (Mike)
) .wi], h th " . p'. 15‘.:_._:;.'_ ‘,

ich of the following jg mot s B i ‘,_1,(4) W 99 (Light Pen)
(1) Plotter : I_J‘P!Jt device ?:ﬂ' ' o

(3) Scanner oy

- (2) Mike
(4)  Light Pep
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(19) TR

B prafrfd § 3 a0 s iy ST (soarch) )
3 - Acces®

1) 718 (Yahoo) i %%'(2) Qﬂ'ﬁﬂ (

(Google) (Biﬂg) I
@3 T (R @) A od soarch engine?
which of the following is not an example of « }J‘hpulur web- bos
. )
(1) Yahoo - (@) Accesd
(3) Google 'H (4) Bing

i aquzgﬁﬁ, DVD 1 90 919 # :

(1) Digital Voice Disc (2) D;gitalve

: isc
(3) Dual Versatile Disc (4) Dual Video Pl?

rsatile DIBCL‘-

In computers, DVD stands for :

: ile Disc
(1) ngltal Voice Disc (2) Dlg'ltal Versatlle _
(3) Dual Versatile Disc (4) Dual Video Dnsc

32963

. ou e FEeA 1 AR g mmmﬁmﬁ%mwm%mm
qu%m ¥ § F=aEl qaitten st ﬁ;&@ SR
R WGITHE (MS PowerPoint) H :
(2) T T4 @A (MS Excel) )
Q@:TEI Hﬁa? (Adobe Acrobat). Bl
(4) TH TH TEEH (MS Access) o

Which of the following software is generally preferred most, to create an animated multimedia
presentation on the topic ‘Health and Hygiene in a Boarding House’ ? ?

(1) MS PowerPoint

v
'(2) MS Excel g
(3) Adobe Acrobat o
(4) MS Access a
@, 78 aft Y ot Qs SR (3RS, m:ﬂmﬁ aﬂﬁ)a;m ﬁm%gwmiaﬁ
% g R v 3 forg Pl Aweam § ¥ AR St srefira el 4 9
(1) T TH T (MS AcceSS)' 2 W WA (M3 Worg)
) TE Hifim (Adobe Premiere) L@ it (Tally)

Which of the following software is generally Pl‘efeﬂ'ed most, tq

write the Principal
of the school, with some basic text and paragraph formattmg ( a House Report to

N bolg, ltahcs, underline; etc.) ?
(1) MS Access (2) Ms Word -

(8) Adobe Premiere - (4) Tally
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43, T et #f W __(Bgmadﬂj ? |
(1) s Yiewem 3T E%j Th AR SR
@) w Jeafbm sww W e S
What is a Router in a computer SySte™ 5 (™

t?; An output device

(1) A calculating device
[4) An input device

(3) A networking device

14, Freafifes & 3 e o v g o @ (Emad!xm 721 B Gehell & ?
PA-eft e 4y $9 3T
(1) 3 37 (Fefirgm) e et A S
D) I _ (sfeven) o $99 I & A—
(3) IH @ R g I A I S
(4) 3% . (eTew) areht $ire o &+
Which of the following cannot be a valid Email ID ?
(1) An Email ID having multiple numbers (digits)
(2)  An Email ID having multiple _ (underscore)i{?
() An Email ID having multiple @ (at-the-rate ign)

(4) An Email ID having multiple . (dots) - %
5. T B 48 g s ) wen (ohe
: re) EFF:T
" 5 T e e (smtch) 3N IRR Hea ¥ 1w
%mwm ? FLE F St % %Eﬁmmam Frforfaq B i o et

(1) Wuw (LAN)

(3) 9T (PAN) o Ty :

4) TG T (WAN)

rks
are connected through a swie, m:; gonerally formed in 2 computer lab, where multiple comput
(1) LAN Wired cable to share some hardware resources like a printer’
(3) PAN ?2) MAN
4] WAN
46. ﬁm%fﬁaa 7 q PR amg :

v\_ﬁ'f (Cloud C 0
(1) tﬂmﬁﬂqﬁm omputing) T T @M 737 & 2
(2) ﬁﬁrﬁﬂm‘rﬁr&im AT f?:% |
(3) ¥ (A1 eush) ﬁﬁ%ﬁa Lf}
(4) aﬁmmmaﬁy ﬂﬁqﬁ%,“
Which of the followlng is "0! B:ITHH %

an g d
:;; :teal U_Iaj.aclceaslblht ﬁ.o V&ntage of Cloud Comphtmg"
mprov
proved co laboratm nh Nh@l‘ﬁ e and everywhere

(3) Does not de
2= ot depend on Inte e Contributors «———

(4) Backup and restorg
da ata i etwork) ork) connectivit
&&y 'XQ.

—

~
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SR H1 AL, 0 3 (AD 1 o o R
( tificial Intelligence
(2) Absolute Intelligence
(3) Augmented Intelligence @
(4) Abstract Intelligence (g:\\j
In modern day computer terminology, Al pog‘)?]larly stands for ¢
(1) Artificial Intelligence 2k
(2) Absolute Intelligence H:
(3) Augmented Intelligence
(4) Abstract Intelligence A i ;
freafiefisn # 2 R st s i £ (o governance) KT8 I T S g

e Y
(1) 1) Ydd 33 H‘%HT (Indian Penal Code)
(2) Ta-g AfUEH (Governance Act)

@) g A (dehem) sifufem, 2008 T (Ajigndment)

49.

50,

I S
' : Akt, 2008)
(4) = & sAfufEm, 2000 (T Act, 2000 (N el

Which of the following Acts provides initial E%al framework for el-vae;nance in India ?
(1) Indian Penal Code v
(2) Governance Act H
(3) IT (Amendment) Act, 2008

(4) IT Act, 2000

Fyrfrfiaa 3 & F-81 T G (antivirus) HTTR 51S H1 AHER IqET TH R ?

ko o

(1) TFH (McAfee) (2) 7T (Norton)

(3) HEITEHTS (Kaspersky) : 4) 2R (Tally) %

Which of the following is not a popular example of an antivirus software brand ?
(1) McAfee |, 2 @ Norton

(3) Kaspersky N @) Tally

@nm@a@#ﬂmmwa)%ﬂﬂ%wmmmﬁnw“

FH-AT R ?

(1) GB<MB<KB 441)2} KB<MB<GB

(3) GB<KB<MB : @ MB<KB.gp

Which of the following is the correct ascending order of Memory llmt as per the storage capacity
(smallest comes first) ? !

(1) GB<MB<KB : .. KB<MB<GB'

B) GB<KB<MB - ) MB<KB<GB
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WO IV /Part IV
POCSO qerT a7 a1 HY& W Hafira Wit @i srfarfaag =1 7=

Knowledge of POCSO and other children safety related Acts of Government of India

51. Fmafefan s w faam Hift :
(&) e o (wfdy aii fafee) sffem, @ﬁsmﬁwﬁwﬁnﬁmﬁ%ﬁﬁm@m

HA R |

B) m%mmmm%ﬁaﬁmwmmmma.
= o e w2 § & wdt s e 9 HIC ﬂ

@ @) 3R (B) I T A (AT B, ST (B)WE 2
3) T (A) T & W TE B) (@) (A TE R, AR (B) e &

Consider the following statements :
(A) The Child Labour (Prohibition and Regulatlon) Act 1986 prohibits the engagement of childre:

only in certain employments.

(B) An occupation connected with automobile workshop and garages is prohibited for childre:

under the Act.
Choose the correct answer from the codes given below : -
(1) Both (A) and (B) are cprrect : (A) is wrong, but (B) is correct
(3) Neither (A) nor (B) is correct (@ - (A)is correct, but (B) is wrong
. - Q) .
52. Tifiieh ATl § FTerHl H1 @ (POCSO) Frammaeht, 2020 & sfarta Fodi g = 2 2
(1) feai A @ At w0 6 SRRE R
(2) U (POCSO) ﬁuﬁm%wﬁﬁamﬂﬂ%qﬁﬁﬂwﬁmw
(8) w9 e wfufa g e =afe e
(4) ¥ foen gesh fdiw vy

1%

Under The Protection of Children from Sexual Offences (POCSO) Rules, 2020, who is a ‘special
educator’ ? ‘

(1) A person trained in communication with children with disabilities

(2)
(3)
(4)

The liaison officer in the special court for trials under the POCSO Act
The person assigned by the Child Welfare Committee
A special trainee on sex education

53. TR STHIULA-FTARI H WEW (POCSO) aﬁ% 2012 % HeY ¥ Toid HH it graE fif |

(1)
(2)
(3)

@)

Identify the incorrect statement
(POCSO) Act, 2012.

The definition of sexual offence in PO

(1)
(2)
(3)
(4)

arel sttt 3 i sy wave S @ aw i T8 2 |
Mﬁmmmﬁ@aﬁm R
el (POCSO) mﬁm%ﬂmqﬁ% vt

with regard toI'The Protection of Children from Sexual Offences

CSO Act is not limited to penetrative sexual assault.

POCSO Act provides every child, the right to be heard. :

POCSO Act is a special law.
POCSO Act is not gender neutra]
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& ) ,_ S

gl < AT o] ¢ B S . ;
@ 8 fafu @) sifufrm, 20133 sl 28 Wqﬂﬁﬁﬁ 1./ |

(B) gar% =t @ ‘ s
S e 1 S o g et o s 7

f2 fam e e A A 1 I e AR
1) (A 3N (B) A T (2;’8 ) T 3, AfF (B) Gl 8
@ A (AT R T H B ’ggng@%,@rﬁm(mﬂﬁa%
Consider the following statements : ()
") nts to the Indian Penal Code.

(A) The Criminal Law (Amendment) Act, 2013 matid améndm‘? . .
that trqffickmg with the consent of the

(B) It amended the offence of ‘Trafficking of Pergoﬁ"“‘ko mean
victim will not be considered an offence. H

Choose the correct answer from the codes given below : _ )
(1) Both (A) and (B) are correct 2 (Ais wrong put (B) is correct
(3) Neither (A), nor (B) is correct @) (A)is correct, but (B) is wrong

g5, 1 SR e ST i, 2og§ﬁm%ﬁaaﬁﬁﬁaW%?
(A) T STel AU FE AR ' o
(B) T AT JAIHR EEOT AT | |

() e et IR Hee ST Q

(D) =T = tn

:ﬁ%ﬁqmizﬁﬁaﬁwwwﬁﬁq: f—:{ e R

(1) Fad (A), (B) A (C) : (z)mw(maﬁt(m
(4y Fad (A) 3R (O)

(@) FE(A),B) MDD
The Commissions for Protection of Child Rights

the following ?
(A) National Commission for Protection of Child Rights

(B) State Commission for Protection of Child Rights
(C) District Commission for Protection of Child Rights

(D) Children’s Courts
Choose the correct answer

(1) (A), (B)and (C) only: po.
3) (A), (B) and (D) only (4), ¢ (A) and (C) only

3 on -
6, et 3 forg e S (e e L B 2000 9 Reen & 4 s 3 AL

gy g o T 7 ()
' @M T fawm e

AE:I%: 2005 provides for the constitution of which of

from the codes given below :
(2) (A) and (B) only

A7 qu fuan FAfsra™ all
: 4),4, T T a1t
@) @ ste feE (i, ST 37 e
The National Charter for Children, 2003 was announced in accordance with the pledge in which of
the following ? _ '
(1) Samagra Shiksha AbiLea Ei; Sustainable Development Goals

3) Teach India Mission National Agenda of Governance
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T 2020 # wRd # 7Y AR G Ry o
) e s s, g2 e
For watfies o 2 \O_(2) TEE Y X
(1) 5 7 gy 2 @ R g

59.

(3) NQquﬁh BRSS! ﬂ' 9020 was thefhlghest for which of the following indicatorg
The mortality rate in India in o * 35 per t

E . - X . 2022" l-n
(1(;0“:::: j::\ ;;)q tcrof :lrl':c(l;lr e v (2) Neonatal Mortality Rate

(3) Early Neonatal Mortality Rate @  Infant Mortality Rate
S QR ey W (2019~ 20 F STTER W H, T W e st o o

(1) 935 2 981 (3) 940 “) 927
According to the National Family Health Survey (2019 - 21) in India, what was the sex ratj,
birth ? Pt \ | |
(1) 935 2 91 @) 940 4) 927

fyes ok sfyard srer R = SRR 3Tt 2009%@?Hﬁﬁqﬁiﬁﬁﬁﬂﬁﬁq_mma

? ™
(A) TE Fr AR i Ao TR F :gwaﬁ{aaﬁaﬁﬁrmanmmp
#B) aﬁrﬁmﬁaﬁﬁﬁrﬁmﬁwmﬁwswﬁfﬁm%mﬁvﬁmﬁaﬁmwp
(©) ¥ sififiw ¥ sfa 63 1478 F g Y wfirer R e 8
e o T e § @ w3 v i L
Q) FEF@IR @ @ W(A)aﬁtgﬁ) (8) HFW(C) (4) e (A)

Which of the following statements is correct regarding The Right of Children to Free an
Compulsory Education Act, 2009 ?

(A) The law provides for free and compulsory education for elementary and secondary stage.

(B) Elementary education i defined in the Act as education for class 1 to class 6.

(C) The age group covered by this Act is between 6 to 14 years,

Choose the correct answer frop the codes given below :

(1) (Aand B)only (g (4) and (C) only (3) (C)only (4) (A)only

| m%,@s%mqﬁﬁmw_ A et s o v 0 8 e

ﬁ e
By whom can a petitiop for ﬁ'ﬂ'l’g g W%ﬁﬁmﬁ UEHR 8

Frohibition of Child Mpyrjg Baﬂuulling 8 child marriage be filed in the District Court under T"
(1) By any socially conscigy » 2006 9

: 8 indiv: . il
marriage IS Mdividya) who has information about a contract being 2 ch
(2) By either of the contractj, . :

. g !
(8) By the Station Houg Offiee Party to the marriage, who was a child at the time of marriage .
(4) Only by the minoy Womap 1 0) of the Jurisdiction where the child marriage was solem?
' Hisa Contracting party to the marriagé
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W V/Part V itude
e aﬁqﬁ'/l\dmlmstmtl\m AP

SR 1 T 3o Frtfifir 9 i & ¢
(1) Wﬁﬁ[ﬂ%ﬂgﬁ[mm
(2)  HEAR T T e w

(3) fﬂ&ﬂ?ﬁaaﬁna:n :
y—mﬁaﬁma;mwﬁwwwm

Which one of the following is the main objective of Hostels ?

(1) To give relief to parents : ™M
(2) To take care of weaker sections 0
(3) To promote education % e their studies

rsu
(4) To provide students a peaceful and t;:1:>ngendﬁ'l'1em'n‘onrﬂlent 0 pu

QAT SR 1 &7 U o1 Eha1 7 Lj_,‘*
(1) STl wHee g H

) m%@ﬁ@ﬁaﬁatﬁﬁmmﬁaﬂtﬁﬁfmm

(3) IrgEmTEA EfufaEi g o fed It
(4) 3T TR (PIH) WGH Fh _ s bR
How can one improve Hostel Administration ? z '

(i) By effective supervision

(2) By regular feedback from Hostel students aﬁ}i involving the.m 111 dec;smn-makmg

(3) By discipline committees % .
(4) By providing adequate funds m

ip) Ty
IER SfieH B R AHE 7 uk 1 o, _
(1) TSR 3 Tad SIaER H9)  TE TR H1 AfTd A 8 -
@) T drEd v (@) T B A AT R

What is the advantage of Hostel life ? Sl Lo )
(1) Socialisation and independent behaviour (2) It is Government policy matter
(3) Lack of privacy ) . (4) It provides freedom to students

m%wwﬁﬁmﬁzﬁq-ﬁgtmmmaﬁm?'
e §g Tl
;%m@m%mmw%“?ﬁ%
(3) el 6 fafia FHreafer HE pm-,
(4) oFgemeR At e

What safety measures are to be adopted in a Girly HOS“’:I ?

(1) Closure of gates

(2) Provision of Lady Warde
. (8)" Regular counselling for gir

(4) Discipline Committee

n along with strict vigilance
| students

HWA-2025/0
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65. mﬁmﬁuﬁzﬁﬁﬁ ﬁﬁ,@@?
(1) T @ s i N
R a——— VL LR

(3)  HeATEE Y wrga Wi SN -
in emergency conditions, the Warden : °

In case of short-circuit in a Hostel in
(1) Has to wait for approval from higher authority
(2) Can only call an empanelled electrician

(3)  Will abscond from the scene
(4) Can even call a private electrician to rectify the problem on priority

66. anqﬁmmm%ﬁﬁ%m@mﬂﬁw
(1) wmwéwaﬁmmﬁgﬁmaﬂtwﬂzsﬁrwa

(2) T=BT FH=R &

3) 3BT IY-EER A | | f:g'
@ fTafmswdassad g

What should the modern Hostel room be like{?)

(1) Should be equipped with LAN facility and}lntemet along with hygiene
(2) Good furniture ] .

(3) Good ventilation o H:

(4) Regular cleaning . f

TR (50 1 iy g

' What is the main objective of Hos (|
(1) Cleanliness tel Mess ? o)
(2) To provide hygienic anq bal
a .
(3) Well furnished ficed diet tﬂl‘ﬂle students
(4) To utilise mess funds Properdy Fk

2. Ao afify frm e

i i

. ‘o # s
" ﬁ:m Wwwmmw@wmwl
(3) : .

Name the ‘document’ norma], @) oEmEm frm g

: Ug o
(1) Mess Guide - ®d for B‘llldlﬁg overall cleanliness in the Hostel.
(8) Sanitary Guide © . 'Oy (@ Mess Committee Rule Book
g‘% (4) Hostel Rule Book

o7
b
™

+

o
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CEIRUCU R AT — (27)
. A ) s g
W W N L han) sy ‘M}ﬂg_’.‘_‘,_‘ﬂig 9

dl

(3)__ TR g 2y wd @ ke
RAS bty

s 4y ad

of the follow; is f T
mg is 3 fan
(1) Wi-Fi control a part of Hostel room inventory
(2) Cci""g

(3) Library books
@ ccTveamer

Which one

SR H_ N8 W W wm g f
(1) EFR wdaa ”

@ Fafa So§ smafE sEn
(3) OTHEE § IAATHT S TG

5332963

“/-f

L

2,

4) ST AR frwrd Wem 3eeey :
+

The role of Mess Committee in the Hostel is :
(1) overall supervision

(2) to conduct regular meetings

(3) to maintain discipline in Hostel

(4) to provide hygienic and cost-effective diet

35 e s o oy A ¢
(1) e afifd O o) grE™ Tl

(3) HITEA |iAfd N@ g afufd

Who is incharge of general upkeep and sanim%n of Hostels ?
+i(2) Hostel Warden

H (4) Mess Committee

(1) Executive Committee
(3) Discipline Committee

W(GFR)W@% :
3 w2 @l @

(1) smEHIea gl

L
2) g frammaed 8

3) rraTE i ATE-aws 4
(4) Wﬁa@ﬁ*mﬁ

1 Financial Rules (GFR) deals with :

Genera
from approved de

(1) Procurement of items
(2) Mess rules

(3) Sanitation in th
(4) Cultural programme? in

#15332963

e Hostel

the Hostel

B

WA 20230,
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ST BEETE 1 e F B FEe @ e Afedl

(1) %9 3 wigen aAl ‘(4) Hmﬁm%w'@?ﬁ“

(3) Had oL | ﬂ

. 1 Hostel 7

Who should be the Warden for Girl® H.OSte (2) Female only o

(1) Both male and female (4) Atthe discretion of ¢gmpetent authority

(3) Male only I;

. : e BT 8 ?

74) oEEW 3] @mE- g e ST BT

@ maﬁ%’ELm - L@ T

(@) wmE H g i =9 A A (4) @IS

Hostel ?

What is the purpose of _‘.I______________-—-—-—--— nventory Manage ment’ 1n theB A
1 udget p
(1) Administrative purpose ) dit irement
Audit requi
(3) To prevent loss and theft :

4)

: M

75. oETEm § frefatea § @ f =ee ? O
1) AT deri & wleerd w @) Eﬁqq;mmamg

(3) e e & whead F ) g G ?g
Which one of the following purchases should be avoided in a Hostel ? ﬂ

(1) Purchase from approved dealers (2) GFR provisions H:

(3) Purchase from approved budget 4) Piecemeal purchases

76. DHEMEM ] IHH HH BALR ?

Q- srEErE arefieres [TaE @ Feul

(3) e @t § @) T

Who is incharge of a Hostel ?

(1) Hostel Supervisor (2) Vice-Chancellor

(3) Mess Secretary ) Warden : 8
77. g Sl e # 3 3y waifies sws 2 2 tg\]

AP EELE XErtet 3 W e v T P,
(2) 3=t O STl 9| . o
(3) I B A h sy g ;1:-4

(4) DT % T TR ) sy gy
Which one of the following ig the A e-a;__._

(1) The administration shoulq Provide
(2) Good quality food

(3) Providing Wi-Fiin every room

(4) Proyiding good library in g, pp el

ential in the Hostel life ?
& non-threatening and conducive environment

r,.d (s *
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78. mﬁlmﬁm&ﬂnnﬁ iﬁh%@qﬁa‘mmmﬁ? '
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s 9eia fadieil g Prafiva sk St
“@ I oEEm A amE P

gt T e 0
(4) S INTEA & WieAw | ﬂ

How can one address teenage problems in Hmcls ?
(1) Regular counselling by professional expéfts

(2) By expelling them from the Hostel ;:
(3) Give full freedom '
(4) Through strict discipline
(s) o 3 b T fu A wed & 2
(1) e R e @) .
(3) Wi W@™@ie (4)
i
What could be a common problem in Hostels&.’
(1) Lack of library books 0 (2)
(3) Poor maintenance 2.] (4)
80. BEE™ U | o e _:zﬁ 29 a
(1) EﬂiﬂﬂTH H & i (2)
3 e & yew *ﬁ (4)
Hostel management does not include :
(1) Hostel room allotment (2
(4)

(8) School admissions

81. wﬁmﬁaﬁeﬁsmmaﬂmﬁﬁém%?

) T TEE " )
4
@ aréd o @
Who is authorised to receive stock in Hostel M¢ss ?
(1) Mess Manager M (2)
‘ M @

(3) - Warden Lﬁ

Iq1S A
g3 i FH

Boring life
Lack of supervision

gxr%m%m

g 3Teed

Fum.ished bedr'(;bm

Mess allotment

Wﬂ ilﬁ'ﬁ ! 1
JUFEEE

Student incharge
Principal

82. mmﬁﬁwﬁﬁaﬁﬁw

(1) od % U@l

(3) gIMUE (4)

Which one of the following is a ‘c

(1) Ceiling fan (2)
(4)

(3) Notice Board

onsumable’ item in Hostel management 2

Cooking gasg

Furniture
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(3
S;&'A-zozaxor 2 =fEe 2 N
+ T yaw & RO o rsgaea 3 sgan
ST # §e g 3 Zﬁ;ﬂﬁﬂ
(2)  om/om H I ﬁﬁ‘
(3) o wel 8
(4) <fed ugfa
What should be the ¢
(1) As per approved Hostel adm

t i for Hostel admlssmm
rie
ission gmdelmeﬁ

™~
(2) By date of birth of student m
(3) Only outstation stpdents Lq
(4) By lotter'_;' system ;4._.

84. BHEEW ¥ w1 I 9 } R g= & Rl 3, 6T w1 Fd ¢

1 H&mmﬁrﬁrﬁﬁwﬁﬁmﬁmm
(2) e Trar-fa F gE@ F
(3) TIHQA o IFTeE! F

In case the Hosteler is seriously ill, the duty of thg Warden is :
(1) To wait for permission from the competent gthorlty

(2) Informing his/her parents g
(8) To ignore the issue ™M

i 50)
(4) To shift the Hosteler mmedlately to the neaﬂest Hospital

mﬁm%ﬂww?

1) e @ 98 TR
). g el L B 4) 39T I i
What type of stock registers are normally mamtamed in the Hostels ?
(1) Asset Reglster (2) Tree Reglster
'(3) Cash Book , E !) Consumable and non-conSumahle
o6, TS 10 (%) g o s K
. | ‘
Ag |faa
(3) qred ;g)
LA) ®E A

Who fixes the food meny iy the H
(1) Mess Committee Ostel ?
(3) Warden

v
H:
(2) Mess Secretary
(4) Student leader
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g7. SATH 1 fifafiaa § @ S vy Qeamisa’ R o

(1 dd (2 Ufet

8 1 3 ) Ma

Which one of the following is a ‘non-consumable’ item in the Hostel ?

(b 0il (2)  Refrigerator

(3) Wheat flour (4) Gas

88. Wﬁm%%ﬂ%ﬁﬁmiﬁmmﬁﬁﬁwmmg?
(D mmamgfﬁﬁa;mﬁamm
(2) mmm_qﬂmm{ch
(3) Had Tk faeiy Soft & ol @) awefed wk
ﬂﬂt%mmiﬂ‘:ﬁﬁmzﬁﬁam

How can one handle large number of stﬁ]:lents in Hostel admissions *

(1) Hostel Commlttee, at its dlscrctlo%
: (2) By charging excess Hostel fees m
(3) By allotting only a particular cateﬁy of students
(4) By restricting the number of stud#ts based on merit

89. MW/WﬁﬁM%B v Frver S A1 R ?
(1) _gar-fuan % @ Frfie smesic e
(2) ST TREI E
(3) R s g et SEafm HEw<
T3 S A FE i
I-iow can one handle indiscipline amonﬂ‘lostel students ?

(1) Regular interaction with parents m

(2) Effective supervision Lr‘j
(3) Regular counselling by profesbmn%experts

(4) Enforcement of strict discipline

90, TEEE H e-Td T 1 gifadl 6 R i R o
BIEICI RIS
(1) gUEEE (2) =9 o™
(3) HEEF A (4) W affy
(U .
Who monitors the attendance of huus& k&‘pmg staff in the Hostel ?
\U .
(1) Principal (o) (2)  Student incharge
+ N . .
(3) Assistant Warden -~ ™M (4) - Mess Committee
m ’
LN
sl
CH



® Group "HaryanaJobs.in" <

(32)

Part VI
age Competency Test (General English)
g‘u

e to tl rd.
9 : Bnlng 0 the gl\?en WO
L Choose the word nearest 12 we ;
Intercede tiate  (3) Infiltrate 4)
(1) Reconcile (2 ee? : Inten’ene
92, cp it in meaning to the given word. _
" 00sp WO
= o y @) Lanky @ Salwart g
ng . .
93. Idelltlf) the CO‘I’I‘ECt form ofthe T;nsﬁ lrﬁl?_’?_‘ﬁ_nﬂence,
, the otlice ye W o g
;‘Y)h\ lglldltl 12 }:fu_t;'e;;? in _ (2) Past Continuous Tense
as eriec e - .
(4) Simple Past Tense
(3) Past Perfect Continuous Tense f"] e P
94.  Fill in the blank with the correct prepOSltIQ_‘ﬂ}
The group of actors drove_—— the foreg:;iat high speed. !
(1) through @ in "3 over 4) at
95. Choose the correct meaning of the “nde lined idiom. _ ;
Tile speaker broke down in the middle of his speech.
(1) looked at the audience ' (2) fal_led to sp_reak
. (3) broke the mike (4~ stopped midway
@ Change the given sentence from Active Vaige to Passive Voice.
The batsman hit theball forasix. =~ O
(1) The ball was hit for a six by the batsrvan.
(2) The ball had been hit for a six by the hgtsman )
- (8) For a six the ball was hit by the batsrian.
(4 The ball was being hit for a six by thé Datsman.
97. In the following sentence, identify the parﬁl&vhlch -contains an error.
Th_ggfzfarerf enquired from me / where /I lived
a b .
(1) e @ b @ T e Y e a

98. Choose the correct Article.
I'wnest politician is g rarity these days. )
1) A A )

99. Choose the correct form of the verb to go the Subjeclt-
_On the day of the departure mofm boat's crew down with fever.
\.}J/WI” be (2) was |_r; (3) has been (4)  were

n :
Y ie af‘:}‘ t1g1: ;l;eaf]%r‘?—;mlzg Orrect order to mzﬂré a meaningful sentence.
B. ' Isaw ayoung gheph, q
C. inthe early dawy
D. herding the catt],
(1) D,C,B,A

D

. B,A O
@ ABCcp. @ ©.B,D,A @
- (]
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fﬁh VI
ST ATHAT ﬂﬂﬁm (v )
FrerteITera e e vyt g wmwﬂ#wﬁum 103) *WW

w RIS gy ',;mﬁ D, 3 A M w1 EE A7 F i
R T | WIS R O Sl i, 9w s s 3 e 366 I sheitfires v e fopm

‘-__-—h‘_-_‘—__—————_-

W%ﬁﬁm%%ﬁwamm%m%iWWI GT*‘H"I‘] j,m
e 7 T T A otfes i s e @ 1 o ) 5 e & g A 996 -9 3 ST & foepy

mw%mmmﬁmﬁmmwi
101, % H O ATz §

(1) 99 I ™

(2) ae R kci‘ci

_® WIoH, T% 3R sy “f;%

(4) Fad HoH o ™M

ulf

102. FI F5eiteh R & Roerds o v g 2 o M ki ik

T g0 e e @ WeR

(3) AT Wty
: N g ) i

103. 7T ht i 1 tfire ofre = for

&W,Waﬂ?ﬁﬁl (@ hEE
104, Frfrfiaa 3 & Hra g owig & 2 '

(1) @i _aegew wE

(2) WHYUR - gz 9

(3) AU - IrFAivTE wHH

(4) Tl 9HI — FHYTT GHTH

#1533296

105. frtfefiaa § & wiom wfu aren e 77 #
(1) anfiw
2) fers
(3) 319
A4) W
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q@,ﬁﬂﬁ—?@%

g Tl
5T
HWA-2023/CD il ﬁ’ﬁﬂ

106, fmfafud Al
(1 Jufh
(o) I
(3) u?:@ﬁ

#153328483

A
|y
¥
=
El
#15332963

110. frefafed 4 & of 1 w77 2.
(1) Wi
(2) I
(3) AL
(4) aﬁm/

#15332963
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am VI1/ I art V1 1 L'lnguage}
B‘ ‘ lﬂnﬂ r
”&[u[ (aﬂlq “lql) ILﬂ“gu“g(‘ (.al)l“l)ttcncy I (

08! SRR . |
: Al | Hafd oo 3
I 10 397 (s s 111 120) 7Sy e v o ST T %

firt oft, Mﬁﬁ%mwﬁﬁm&sﬂuwmﬁm%ﬁﬂﬂmﬁw (%" FEm 111
ﬁl20ﬁ)ﬁ?3‘a‘1§ﬁm&t{ lqﬂ&“*ﬂ?ﬁ@fﬁwﬁwﬁaﬁﬂ?ﬁaﬂqﬁq@% | afg sremefi

ﬁ?ﬁm@ﬂwwﬁmwﬁ%%, e 5w w (OMR Sheet) T TCAHT T
feman T |

The booklet has 10 questions (from serial g{; 111 to 120) of Language Competency of
each Regional Language, however, candi{@aj}tes should attempt the questions (from
serial no. 111 to 120) of Regional Languaég?which is mentioned on their admit card.
No change of Regional Language is allow;*t_i during examination. The answer shee;t

(OMR Sheet) of the candidate will not be evaluated, if the candidate has attempted

questions of any other Regional Language.

#15332963
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Part V1
Language Competency Tegt (11indi)

| WWWWHZEE meanwﬁagp:ﬁ”” 113) %Wﬁ?aﬁﬁf?
| @*Wﬁﬁﬁm%mgm ﬁzﬂi‘iﬂij,ﬁl@%mﬁ

@%ﬁqﬁﬁﬁ?m&maﬁaﬁ;mm%
m’? W%fm
zﬁf ﬁﬂm%%qm%aﬁﬂ Jﬂf

Wﬁ@ﬁﬁﬁwﬁw%m

(1) SfYah g9 % Ry

63

(2) o ymifa & BT

& B4 F Hro "
\/’ﬁrr_ e N @ wrd aged & F1
j19, TUTS BiGAL T 1 o wiife - H
(). < B I @) g w2
(@) T ey o (4) == 7@ a1
13, el F1 T H |
RORCLIERS i (2) T o faeE g
(3) TH-G¥Y H G e (@) wa g g
e , 2] .
114, Frerfeifiaa o =g &1 watart 757 R 0@\
(1) wIh (2) Yy o (3) FurER @) @
115, ' g IR m

” ‘?{EET%E..I*’ - £ firgar) g 17
(3) WeleE i 1 g weE A @ H (@) m@ 1 gy e § |

116, ﬁnﬁiﬁaﬁmmﬂ%m@-ﬁ;@ﬁ_@m%: |
Uy ﬁﬂﬁwqﬁma& T (2) TR H A T@H arel - R
@) qﬁﬁﬁﬁwmwﬁm@ﬁw b (4) R = B - FA

117, Freferfiaa 3§ ‘ome veg 1w faamrd @ :

(1) W | ) T3 m & s
O
, , F A TRE: Oy
18, frferfaa & e 1 g ¥ e = N (3) wma:feafa (4) &g
m W @) @m R ‘
W-q T b
119, ‘s ma@ﬁwwﬁ
. LEl i - ;; (3) HaAM™ (4) fasmor

120.%1n%mwmm'§m% (3 93 - WSH T (4) weftem - Wi
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Part VI .
Language Competency Test (Khasi)
™M
L Jieg in Ka kyntien knbn fajan ha ka jingmut bad k‘aﬂwntl'enhmhr ob, (4)
(D Mutlop (2) Lehkjeh (% Jaitu Sarong
112, 4 ied ja kg kyntien harum kaba iajan ha ka jingm‘m’ad i kytftien o
(1) Pynshitom (2) Jynjar (3:2; Sngewsih 4 Bamja
113. Kano na kine ki kyntien harum kaba iapyrshah ha ka jingmut bad ka kyntien ‘Kynjaj’ 7
(1) Bitar ) (2) Sngewmeng
(3) Ehrang (4) Satar
114. Kano na kine ki kyntien harum kaba don ia ka jingspel dak kaba bakla ?
(1) Pynloit (2 Wallam (3) iing syiem (4)  Khunlung
115. Kano na kine ki kyntien harum kaba don ia ka ji@spel dak kaba bakla ?
(1) biej 2) deid” @ sdie | (4)  thylliej
N
116. Kano na kine ki kyntien harum kaba iapyrshah Qka Jingmut bad ka kyntien ‘Atlukhj’ ?
(1) Sbun (2) Jemnud @ Daini (4)  Tipsngi
117. “Ki khynnah ki jasum ha wah”. i .
Ka kyntien “asum’ ka dei ka jait verb aiu ?
(1) Reciprocal verb (2) Intransitive verb
(3) Causative verb (4) Transitive verb
118. “U briew ba shong hapdeng surok u jam pangnud ia la ka khun.”
Kdew ia ka adverb ha katej ka senten. .
(1) pangnud (2) hapdeng @ khun ‘ (4) shong
119. “Sah noh hangne bad ngi”, g
- i ] 1 m )
Ka kyntien ‘hangne’ ha katej ka senten ka dei ka(fit adverb aju ?
b of
1) A(r.;verb of glace Adverb of Time
(3), -Acvertiol-Degrge @k Adverb of Manner
120. Pynbeit ia kane ka sentep harum ha ka rukom kaba dei :

A. ba phinfoh
B. jingmut bha

K. pynleit
D. shong ha kyn&ong,
(v KBAD i (? Xnap (3) DAKB (4) ABKD



